M8x20 - 2x
M8x30 - 3x P14 - 8x
M12x35 - 6x
SN M8 - 5x
M14x100 - 8x P8 - .
M12x70 - 2x (A) .'r@ M12 - 6x (A, 1) Ep?f’gx E?Q—B}Q(x BP 360 - 2x
M12x90 - 2x (1) A MI12 - 4x (C) PP12-8x (A, I)

M12x19 - 3x (C) PP12- 10x (C)
M12x21 - 1x (C]

MI12x19 - 3x
MI12x21 - 1x M12x35 |
e (e
—— M“"‘ 0
] J
- | ‘h

MI12x70 - 2x

[vyrezaf drziak vyfuku z vystuhy naraznikal
[cut the exhaust holder from the bumper reinforcement|

M12x90 (10.9) - 2x

110 Nm LAND ROVER DISCOVERY SPORT

IC 32501 Kod: R1075(A1.C) - 14. 7. 2022




